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SUMMER TERM 6 - YEAR 4 FRIDAY MORNING ACTIVITIES

5 Fluency Questions

70 +20 =
4/5 of 50 =
38x5=
49 + 33 =

8483 — 2948 =

5 Maths Problems

23. David says the time is “3 o'clock
in the afternoon”. Which of these

1 means the same thing?

a.3am b. 3 noon c. 3 pm

SPAG Challenge

22. Which month has 28 days?

| a. January

b. February
¢. March

Write the plural \
forms of these singular
nouns:

23. On the grid draw a pentagon.

tooth -

woman -

girls

24. Number of boys & girls in Class 7:

mouse -

Key: C% means 3 pupils

Toer 160 & & Do

Show 14 girls on the pictogram.

1 25. How many boys and girls are

there in Class 77

Tricky Question ©

Who is in this picture?




